b 1 ce around a plane figure is called its feg_;_mei@t :
_ ﬁﬁui-wm wants to fence his field, must find theﬂa&mei&t_ of the field.
Perimeter of a square with side 15 cmis (2 - m

4. Area ofa rectangle with length 9 m and breadth 3 m is ot m

, Thq% of a square field with side 11 cm is | o | 5. Cm.
S _ )
B o& zkonﬂtr:m ISWER:

B gﬂma nfséa,square is
Hf Pﬂ;lduﬂ of all sides b} sum of aII sndés *eﬂ'[:fe % side  dj 2 » side

2 The ama of a square is equal to the area of a rectangle of [eng:h 8 cm and

breadth = 2 em. What is the side ::nf the square?

'. E{-:;Eh_.r b ' tﬁﬂcm 4 ; d_ﬁﬂcm '..-

A 3 The breadth of a rectangle is mtreased by 2 cm. Its penmeter is now mnreased hy

Iil' ¥ :
% ; a) 2cm Q}/ﬁ:m c)8cm d) 16 cm
:,;:1 { 4 is the length of a rectangle whose area is 72 m? and breadth ic 9 m.
TR S a
- a)l 6m b) 7 m 8m d) 9 m

5, 1 sgquare metre is the area of 3 square of side

.a} 1em ~:r]/1rn ¢} 1 mm dj 1 km




| ¢ﬁtﬁiﬁlnﬂ*:ﬁmﬂ e Wantad i

ow many metres of lace is required?

il Find total cost of lace, if 1 metre costs % 4,

 miflength of Toulecksth-Unm

Beeadth of Table clgth- 3m
Y lace requined = A4+3)=q%xF= 1M m
p Costel 4 m of lace = TY
Tetol cosy eﬁ.mmq,m@-mmx TY=T5G

MHEH ythe 1Ym of Lace 18 neyuined ond dhe

A8, e
2. Forthe usedinﬁﬁﬁ} and reasen (R} below, choose the correct alternative,
Assertion (A): Vidya needs ta find the perimeter to put lace around the tablecloth,

Reason(R): It is not possible to put lace on the surface of the tablecloth,

J‘Eﬁtﬁ-ﬂ'arid R are true and R is the correct explanationof A.
b. Both A and R are True but R is not the correct explanation of 4.
C.  Alstrue but R is false

d. Ajs false but R is true.
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